BRH=+0,15
— von OK Podest roh
23 $OK FFB +12,357
<5 OK RFB +12,287
=
I N
I
_—r B —
I ~ | R
: - - — —
@ g R DN 50,
4 B N 9
L < T — Kt e 2
JlI) %
T * 306"+ FFB 12 £
i _10STG SelbstschlieRend e
18%/273.0G2 ¥t Oboricht i
—_— 8 g
77777 — | vres )
= STB d=20 2
2 0
2 AN_OG4_02-1 fis
g s \
< ¥
=} 2800 &
125 58 1196 1051 o
85 566 ¥ 1182 " 1045 1
1
P c
sTBd=30 | o a L T \
13 2 s\ | ] ] | i
g 3 g - N | ‘ | | |
SL S | I -\ (040200 ~\CoamzoD [E—
|- o AN - BODDS 1015 313+ FFB 1 | &\13”, FFB 1
B L DS T 5. DS
| w3 m = \\ | [BDIDD S 75/ \5\\
2088 13 - 04.02 04.03 i
AN_OG4_02-3 % WC 2H WC D
g L 288
E A 710m
3
BDDDS 4520 | ~ somolam | =
@ X,&D:H:FZBMS Uwf :HSFQBSM:E Bauart Brandwand
UBD 100150 N HKS/BD 1,20/50 ~ E/BD 1,10/50 ] I K Putz = VK At
JBD 1,00 /BD 1,20/ /8D 1,10/
LoD LZOE 47‘4} THKS"DD LZO/ﬂ I‘J’ rE/DD’BUyBD’ J‘
K
'// 04.01 @ s
Biiro 3300 2
/' 94 190,89 m? B0 gy 7, 1000 . w &
O 68,23 m 3l 4
STB d=30 @ R
PR e ——————
eOK FFB +14,16° = AN_OG4_01-7
OK RFB +14,04° = - -
I
& AN 3300
125] 50 7 4 1000 - STB 30
D 3 418 13 A4
& LIRS
STB d=30 3 g EI H ————————
z = — % AN.0G4.016 .
i 2 5
S e / I (2
~ = / £ &
[0 2
S LF >~ s
= 5
< £
é
2
330 2
753 ¥ 1000 ¥ &
AN_0G4_01-5
£
STB d=30
2
‘
/TE \/




